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Sample Paper – 2011
Class –XII
 Subject – Economics
SECTION - A

Q1. 
Answer the following questions:
3
(a) What causes a downward movement along a supply curve of a commodity?

(b) Why does the problem of choice arise?

(c) Under which market form, a firm is a price-taker?

(d) Define fixed cost.

Q2. 
State the factors affecting supply of good explain any one graphically.
3

Q3. 
Explain three main features of an Oligopoly market.
3

Q4. 
At a price of Rs 8 per unit, the quantity supplied of a commodity is 200 units. Its price elasticity of supply is 1.5. If its price rises to Rs. 10 per unit, calculate its quantity supplied at the new price. 
3

Q5. 
Explain the effect of Marginal rate of transformation (MRT) on PPF? 
3

Q6. 
How following will affect the budget line
3
(a) Increase in price of good X

(b) Increase in income of family

(c) Proportionate increase in prices of both good and income
Q7. 
How expenditure on the commodity affects the consumer budget? (Hint: exp Method)
4 

Q8. 
Explain the behaviour of TC, TVC on the basis of following schedule reasonably:
4 

 
Output (units)
1
2
3
4
5 

M C (Rs.)
40
30
35 
39
45
Q9. 
Explain the relationship between total revenue and marginal revenue with the help of a schedule in perfect market and imperfect market structure. 
4

Or

What is meant by returns to a factor? What leads to increasing returns to a factor? Explain. 

Q10. Explain with the help of diagrams the effect of the following changes on the Price of a commodity: 
6

(a) A fall in the price of substitute good.

(b) A fall in the income of its buyer.

Q11. Explain the input and output relationship with the help of a total physical product schedule. 6

Q12. Explain with the help of a schedule how consumer attains maximum satisfaction with respect to two commodities
 6

Or

Let the price of good is 3/- P.U. and MU of 1 Rs = 1 at what point consumer will be in equilibrium for the following MU. Also find out the change in qty if MU of Rs 1 = 2.
Output (units)
1
2
3
4
5

MU of good X
6
5
4
3
2
SECTION - B 

Q13. Answer the following questions: 
(4)
(a) Is the study of cotton textile industry a macro-economic study or a micro-economic study?

(b) What is meant by foreign exchange rate?

(c) Give two examples of macro-economic studies.

(d) A government budget shows a primary deficit of Rs. 4,400 crores. The revenue expenditure on interest, payment is Rs. 400 crores. How much is the fiscal deficit?

Q14. Calculate Gross National Disposable Income from the following data:
(3)
(a)  National income 
2000
(b)  Net current transfers from rest of the world
200
(c) [image: image1.png] Consumption of fixed capital
100
(d)  Net factor income from abroad
(-) 50
(e)  Net indirect taxes
250
Q15.Distinguish between average propensity to consume and marginal propensity to consume, The value of which of these two can be greater than one and when? 
(3)
Q16.What is a government budget? State it’s objectives. 
(3)
Q17.In an economy marginal propensity to consume is 0.75. If investment expenditure is increased by Rs. 500 crores, show the process of total increase in income and consumption expenditures. 
(4)
Q18.What is the basis of classifying government expenditure into: 
(4)
(a) Revenue expenditure and capital expenditure?

(b) Plan expenditure and non-plan expenditure?

Q19. State the different measures of credit control & explain the effect of an increase in Bank Rate on credit creation by commercial banks. 
(4)
Q20. State four sources each of demand and supply of foreign exchange. 
(4)
Or

State any four items each of current account and capital account of the balance of payments account.

Q21. Briefly explain any two functions of money. 
(4)
Q22. Will the following be a part of domestic factor income of India? Give reasons for your answer. 
(6)
(a) Old age pension given by the Government.

(b) Factor income from abroad.

(c) Salaries to Indian residents working in Russian Embassy in India.

(d) Profits earned by a company in India, which is owned by a non-resident. 

Q23. Explain the equilibrium level of income with the help of saving and investment curves. If savings exceed planned investment, what changes will bring about the equality between them?
(6)
Or

Distinguish between inflationary gap and deflationary gap. Show deflationary gap on a diagram Can this gap exists at equilibrium level of income? Explain.

Q24. What is the difference b/w?
(6)
(a) Stock & Flow

(b) Domestic territory & Political territory

(c) Resident & Citizens of the country

TEST PAPER - 2
SECTION – A

Q1. 
Answer the following questions:
4
a) Define market supply.

b) What is meant by producer’s equilibrium’

c) Define marginal physical product

d) Define equilibrium price. 

Q2. 
Explain any three factors that determine elasticity of demand? 
3

Q3. 
How elasticity on a straight line supply curve is measured?
3

Q4. 
Explain the relationship b/w MC & AC on the basis of following schedule?
 3
 
Output 
1
2
3
4
5

 
MC
6
5
4
3
2
Q5. 
What happens if firms in perfect competition earn abnormal Profits?
3

Q6. 
Calculate TR & MR: Name also the market in which the following relation prevails:
 
Output 
 
1
2
3
4


 
Price (Rs.)
12
10
8
6
Q7. 
Distinguish between ‘change in supply’ and ‘change in quantity supplied’ of a commodity. 
4

Q8. 
Explain the problem of ‘what to produce’ with the help of an example & state also the reasons behind central problems.
4

Q9.
The quantity demanded pf a commodity at a price of Rs. 8 per unit is 600 units. Its price falls by 25 per cent and quantity demanded rises by 120 units. Calculate its price elasticity of demand. Is its demand elastic? Give reason for your answer. 
4

Q10.
Explain consumer’s equilibrium, in case of two commodities with the help of IC. 
6

Or

What are the main features of Indifference curve.

Q11.
Explain the law of variable proportion with the help of total and marginal physical product curves. Why producer always produces in phase two.
6

Q12.
Why there is shortage of stocks when market price is less than the equilibrium price and explain also how market get it’s equilibrium? 
6

SECTION – B

Q13. Answer the following questions:
(4)
(a) Why is repayment of loan a capital expenditure?

(b) Define macroeconomics.

(c) What is meant by balance of trade?

(d) Give two examples of microeconomic studies. 

Q14.When will the following be true:
(4)
(a) GDP mp = GNP mp

(b) NDP fc =  NDP mp

(c) GNP mp = NNP mp

(d) Real GDP = Nominal GDP

Q15. Define AD? What are its components? How it’s affect by Fiscal policy?
(4)

Q16. State the types of deficits in govt budget? When will govt resort to monetary expansion?
(4)
Q17. Complete the following table:
(4) 

 
Level of income (Rs.) 
Cons’n
MPC
MPS
APC
APS 

 

400
240

 

500
320

 

600
395

 

700
465
Q18. State the main functions of a central bank. How it is different from commercial bank?
(4)
Q19. What is meant by autonomous and accommodating Items in the BOP account? What is the significance of it. 
(4)
Or

What is meant by deficits in BOT? How it is corrected?
Q20. Explain the concept of net factor income Paid to abroad?
(4)
Q21. Distinguish between:

(a) Revenue receipts and capital receipts.

(b) Direct tax and Indirect tax.

Q22. From the following data, calculate: 3, 3(a) Personal disposable income and (b) National income                                                       Rs. (in crores)

 
(a) Private income 
3000

 
(b) Compensation of employees
800
 
(c) Mixed income of self employed
900
 
(d) Net factor income from abroad
(-) 50
 
(e) Net retained earnings of private enterprises
600

 
(f) Rent
350
 
(g) Profit
600
 
(h) Consumption of fixed capital
200
 
(i) Direct taxes paid by households
300
 
(j) Corporate tax 
350
 
(k) Net indirect taxes
250
 
(l) Net exports
(-) 70
 
(m) Interest 
450

Q23. Explain the working of money multiplier with the help of a numerical example. 6

Or

In an economy if planned savings exceed planned investment. How will central bank helps in correcting this disequilibrium
Q24. Explain briefly:
(A) How factor income is generated in the economy?
(3)

         OR

    Equality b/w NVA fc & Generated income?

(B) Problem of double counting and it’s solution?
(3)

                  OR

              Difference b/w Value of output & Value added with numerical example
TEST PAPER - 3
SECTION - A

Q1. 
Answer the following questions: 
(3)
(a) Give meaning of opportunity cost.

(b) Define marginal physical product.

(c) Give meaning of supply.

(d) Define fixed costs.

Q2. 
How normative economics is different from positive economics? Give suitable example
 (3)

Q3. 
Define utility. Explain briefly the law of diminishing marginal utility. 
(3)

Q4. 
Why producer have elastic demand curve for product in monopolistic market than that of monopoly? 
(3)

Q5. 
Explain briefly the implication of different features of monopolistic competition. 
(3)

Q6. 
Let Qd = 20 – 4 Px. At what price ed is Perfectly elastic & perfectly inelastic 
(4)

Q7. How capitalist economy is different from socialist economy with respect to central problems? 
(4)

Q8. 
Identify & Explain different phases of the law of variable proportions from the following schedule: 
(4)
  
Input (units)
1
2
3
4
5 

TPP
4
9
13 
15
12

Q9. 
Explain the changes that take place when at a given price of a commodity there is excess supply of it. Use diagram.

Or

A product market is in equilibrium. Suppose the demand for the product decreases. What changes will take place in the market? Use diagram. 
(4)

Q10. If Px = 3 & Qx =30 than calculate:
(6)
(a) money income of the family

(b) Qy if Py = 9

(c) Slope of budget line

(d) Equation of budget line
Q11. Explain briefly the following determinants of supply: 
(6)

(a) Increase in the prices of inputs

(b) Decrease in tax on the product

(c) Technological change

Q12.
Explain briefly the various components of Economic / Money costs and there inter-relation? 
(6)

SECTION - B

Q13. Answer the following questions: 
(4)
(a) Define macroeconomics.

(b) Give one example each of microeconomics and macroeconomics.

(c) What does balance of payments account record?
(d) What is the balance of visible items in the balance of payments accounts called?

Q14. Classify the following into intermediate goods & final goods:
(4)
(a) Tractor purchased by a farmer

(b) Bread purchased by a sweet-maker

(c) Goods transported by truck to nearby market

(d) Unsold stock of the firm
Q15. In an economy investment increases by Rs.120 crores. The value of investment multiplier is 4. Calculate the marginal propensity to consume. 
(3)

Q16. Prove that savings are always equals to investments? 
(3)

Q17. Explain how foreign exchange rate is determined in the market.
 (3)

Q18. Explain the relation b/w various measurements of money supply.
 (4)

Or


What will be the problems, if money suddenly disappears?
Q19. What is the difference b/w GDP at current Prices & GDP at constant Prices? How it is related with welfare of the economy? 
(4)

Q20. State different types of expenditure in government budget? How can govt finances it’s expenditures 
(4)

Q21. Explain the relationship b/w income & consumption? What are its properties i.e. main features? (Hint: Break – even income)
(4)

Q22. How economy calculates GDP by different methods? 
Q23. In an economy if C+I exceed income. How will central bank helps in correcting this disequilibrium
 (6)

Or


In an economy if C+I is less than income. How will central government helps in correcting this disequilibrium 
Q24. Calculate Net National Disposable Income and Private Income from the following data: (2, 4) 
( RS. Crores) 

 
Net indirect tax
90
 
Compensation of employees
400
 
Personal taxes
100
 
Operating surplus
200
 
Corporate profit tax
80
 
Mixed income of the self-employed 
500
 
National debt interest
70
 
Savings of non-departmental enterprises
40
 
Current transfers from government
60
 
Income from property and entrepreneurship 

accruing to the government administrative departments
30
 
Net current transfers to the rest of the world
20
 
Net factor income from abroad
(-) 50
TEST PAPER - 4
Q1. 
Answer the following questions:
(3)
(a) Give two reasons for the problem of choice.

(b) Give one reason for a rightward shift of the Production Possibility Curve,

(c) Give two examples of microeconomic studies.

(d) What does the problem ‘for whom to produce’ refer to?
Q2.
Explain how micro & macro economics are substitute & complimentary to each others?
(3) 
Q3. 
Prove that elasticity of demand varies b/w zero to infinity between the axis. 
(3)
Q4. 
How ATC & AVC are related to MC, with the help of suitable numerical example?
(3)
Or


Distinguish between fixed cost and variable cost and give one example of each.

Q5. 
Draw straight line supply curves with price elasticity of supply equal to 

(i) one,        (ii) elastic           (iii) inelastic 
(3)
Q6. 
When price of a good falls by 10 percent, its quantity demanded rises from 40 units to 50 units. Calculate price elasticity of demand by the percentage method. 
(4)
Or


A consumer buys 50 units of a good at a price of Rs. 10 per unit. When price falls to Rs. 5 per unit he buys 100 units. Find out price elasticity of demand by the ‘Total Expenditure Method’.

Q7. 
Why demand curve is constrain to the market of monopolist? 
(4)
Q8. 
What does the point above and point below the budget line indicates?
(4)
Q9. 
How is the equilibrium price of a commodity affected by a leftward shift of the demand curve? Explain with the help of a diagram. 
(4)
Or


How is the equilibrium price and quantity of a commodity affected by a decrease in its demand?
Q10. Distinguish between the following: 
(6)
(a) Normal good and Inferior good

(b) Marginal utility and Total utility

(c) Individual demand schedule and Market demand schedule

Q11. 
Why producer is said to be in equilibrium when the gap b/w TR & TC is maximum in imperfect market?
OR


 Explain how MR & MC leads to maximum profits in monopoly?
(6)
Q12.  Explain reasonably why some cost curves are parallel and some are not, in short run?
(6)
SECTION - B

Q13. Answer the following questions:
(4)
(a) Define macroeconomics.

(b) Give two examples of the study of aggregates of the economic system.

(c) List two items of the capital account of balance of payments account.

(d) What is the difference between the values of exports of goods and imports of goods called?
Q14. Calculate Personal Income from the following data: 
(3)
 
(i) Undistributed profits of corporations 
20

 
(ii) Net domestic product accruing to the private sector 
500

 
(iii) Corporation tax 
55

 
(iv) Net factor income from abroad 
(—) 10

 
(v) Net current transfers from government 
15

 
(vi) National debt interest 
40

 
(vii) Net current transfers from the rest of the world
15

Q15. An increase in investment leads to total rise in national income by Rs. 500 crores. If Marginal Propensity to Consume is 09, Calculate increase in investment?. 
(3)
Q16. Give meanings of (i) aggregate demand, (ii) aggregate supply and (iii) excess demand. 
(3)
Q17. How is a foreign exchange rate changes? Use diagram. 
(4)
Q18. Give meaning of money supply, State its components. 
(4)
Q19. Explain briefly the ‘banker to the government’ function of the central bank.
(4)
Q20. Distinguish between ‘fixed exchange rate’ and ‘flexible exchange rate’.
(4)

Q21. Distinguish between ‘fiscal deficit’ and ‘revenue deficit’. What does fiscal deficit indicate? 
(4)

Q22. Calculate Gross National Product at Market Price and Net National Disposable Income from the following data : 
(6)
 
(i) Current transfers from government
25 

 
(ii) Compensation of employees 
600
 
(iii) Net current transfers from the rest of the world 
20
 
(iv) Rent 
100
 
(v) Consumption of fixed capital 
50
 
(vi) Interest 
120
 
(vii) Net indirect tax 
110
 
(viii) Profit 
80
 
(ix) Mixed income of the self-employed 
200
 
(x) Net factor income from abroad 
(-) 10

Q23. Explain the ‘expenditure’ method of estimating national income. 
(6)
Q24. What is ‘deficient demand’ in macroeconomics? Show it on a diagram. Explain the role of open market operations in correcting it. 
(6)
Or

Distinguish between ‘deficient demand’ and ‘excess demand’ in macroeconomics. Explain the role of open market operations in correcting deficient demand.
TEST PAPER - 5

SECTION - A

Q1. 
When is a good called a ‘normal good’?
(1)
Q2.
Define fixed cost.
(1)
Q3.
Define marginal revenue.
(1)
Q4.
Price elasticity of supply of a good is 0.8. Is the supply ‘elastic’ or ‘inelastic’, and why?
(1)
Q5. 
if Py = 3 & Px = 2 calculate Qx & Qy if M = 90?
(1)
Q6. 
Explain the law of equi marginal utility. 
(3)
OR


How utility analysis help in deriving Demand curve for the product?
(3)
Q7. 
Why consumers buy more of good at constant price?
(3)

Q8. 
How inverse U shaped MP curve helps in determining the shape of TP curve?
 (3)

Q9. 
What does the point below the IC curve indicates. 
(3) 

Q10. If ed = 2 & % fall in price of Good x is 10% then calculate % change in qty of x. also calculate ed for good y if % change in qty of good y is half of the good x, for the same change in Price.  
(4)

Q11. What will be the effect of the following changes in total revenue on marginal revenue? 

(a) Total revenue increases at a increasing rate.

(b) Total revenue increases at a constant rate.
(4)
Q12. Draw a production possibility curve. What does a point below this curve indicate? Explain. 
(4)

Or


Explain the central problems with the help PP curve.

Q13. Draw the average revenue curve of a firm under monopoly and Perfect competition. Explain the difference in these curves, if any. 
(4)

Q14. Calculate total cost and average variable cost of a firm at each given level of output from its cost schedule given below. 
(6)
 
Output 
1
2
3
4
5
6

 
MC
32
30
28
30
35
43

AFC
60
30
20
15
12
10

Q15. Explain graphically the implication of entry and exit of firms in perfect competition. 
(6)

OR

How perfect competition is different from other market structures?
Q16. Calculate the following table:
(6)

	    Price
	Demand 

A
	Demand

B
	Demand

C
	Demand

D
	Demand

E
	Total Mkt Demand

	6
	20
	25
	30
	25
	20
	--

	5
	15
	30
	--
	20
	25
	--

	4
	- -
	40
	--
	10
	30
	150

	3
	- -
	30
	40
	20
	25
	--

	2
	20
	25
	30
	25
	20
	--

	
	
	
	
	
	
	


(a) Demand of C is 5 times more than the Demand of A at Rs 4/-
(b) Demand of C is 20 less than at Rs 5/- than the qty at Rs 4/-

(c) Demand of A is 50% more than at Rs 3/- than the qty at Rs 4/-
SECTION - B

Q17. 
In a government budget, primary deficit is Rs. 10,000 crores and interest payment is Rs. 8,000 crores. How much is the fiscal deficit?
(1)

Q18.
Give two examples of macro-economic variables
(1)
Q19. 
In case AD > AS, then what govt. should do to control it?
(1)
Q20. 
When will balance of trade show a surplus?
(1)
Q21. 
National Income is the flow variable? True or false
(1)

Q22. 
From the following data calculate ‘gross value added at factor cost’:
(3) 


(a) Net indirect tax
20
(b) Purchase of intermediate products
120
(c) Purchase of machines
300
(d) Sales
250
(e) Consumption of fixed capital
20
(f) Change in stock
30

Q23. What is meant by ‘investment multiplier’? Explain the relationship between marginal propensity to consume and investment multiplier. 
(3)

Q24. 
How the following will affect the BOT?
(3)

(a) Currency appreciation

(b) Currency depreciation

(c) Gifts paid to abroad are more than that of gifts received from abroad

Q25. 
What is the difference b/w Money (M) & High powered Money (H)?
(3) 
Q26. 
Giving reasons to classify the following into revenue expenditure and capital expenditure: 

(a) Subsidies
(3)

(b) Grants given to State Governments

(c) Repayment of loans
(d) Construction of school buildings

Q27. 
How does a central bank perform the function of controller of credit? 
(4)

Or

What are the main functions of a commercial bank. How it is different from FI’s
Q28. 
Explain what happens if intermediate goods are treated as final goods? 
(4)

Q29. 
Explain any one problem faced in the barter system. How has money solved this?
 (4)

Q30. 

From the following data calculate National income by income and expenditure method: (3, 3) 


(a) Current transfers from rest of the world
100
(b) Government final consumption expenditure
1000
(c) Wages and salaries
3800
(d) Dividend
500
(e) Rent  
200
(f) Interest
150
(g)  Net domestic capital formation
500
(h) Profits
800
(i) Employers’ contribution to social security schemes
200
(j) Net exports
(-) 50
(k) Net factor income from abroad
(-) 30
(l) Consumption of fixed capital
40
(m) Private final consumption expenditure
4000
(n)  Net indirect tax
300

OR
Calculate (a) private income, and (b) personal disposable income from the following data: 

(a) Income from property and entrepreneurship accruing 

    to government administrative departments
500

(b) Savings of non-departmental public enterprises
100

(c) Corporation tax
80

(d) Income from domestic product accruing to private sector
4500

(e) Current transfers from government administrative departments
200

(f) Net factor income from abroad
(-) 50

(g) Direct personal taxes
150

(h) Indirect tax
220

(i) Current transfers from rest of the world
90

(j) Savings of private corporate sector
500
Q31. 
Why must aggregate demand be equal to aggregate supply at the equilibrium level of income and output? Explain with the help of a diagram. (6)

Q32. 
Will the following factor incomes be a part of domestic factor income of India? Give reasons for your answer. (6)

(a) Profit earned by foreign banks from their branches in India.

(b) Salary received by Indian residents, working in American embassy in India.

(c) Profits earned by an Indian company from its branch in Singapore.

(d) Compensation of employees given to residents of China working in Indian embassy in China.
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